. VCE & PDF https://www.pass4itsure.com/jn0-635.html
g 2024 Latest passditsure JN0-635 PDF and VCE dumps Download

PassditSure.com

JINO-635958AS

Security, Professional

Pass Juniper JNO-635 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/jn0-635.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest INO-635 Dumps | JNO-635 VCE Dumps | JNO-635 Braindumps 1/4


https://www.pass4itsure.com/jn0-635.html
https://www.pass4itsure.com/jn0-635.html
https://www.pass4itsure.com/jn0-635.html

. VCE & PDF https://www.pass4itsure.com/jn0-635.html
g 2024 Latest passditsure JN0-635 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Click the Exhibit button.

user@srx> show security flow session
Session ID: 358216, Policy name: default-policy-logical-system-00/2, Timeout:
1788, Valid

In: 10.10.10.1/63261 ——> 203.0.113.10/443;tcp, Conn Tag: Ox0, If: ge-0/0/1.0,
Pkts: 632, Bytes: 49341,

out: 203.0.113.10/443 --> 172.25.11.4/21740;tcp, Conn Tag: 0x0, If: ge-
0/0/0.0, Pkts: 662, Bytes: 79325,

Referring to the exhibit, which statement is true?
A. Source NAT with PAT is occurring

B. Destination NAT is occurring

C. Static NAT without PAT is occurring

D. Source NAT without PAT is occurring

Correct Answer: A

QUESTION 2

You have designed the firewall filter shown in the exhibit to limit SSH control traffic to yours SRX Series
device without affecting other traffic.

Which two statement are true in this scenario? (Choose two.)

A. The filter should be applied as an output filter on the loopback interface.

B. Applying the filter will achieve the desired result.

C. Applying the filter will not achieve the desired result.

D. The filter should be applied as an input filter on the loopback interface.

Correct Answer: CD

Reference: https://www.juniper.net/documentation//en_US/junos/topics/concept/firewall-filter-ex-series-
evaluationunderstanding.html

QUESTION 3

You have downloaded and initiated the installation of the application package for the JATP Appliance on an SRX1500.
You must confirm that the installation of the application package has completed successfully.
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In this scenario, which command would you use to accomplish this task?
A. show services application-identification version

B. show services application-identification application detail

C. show services application-identification application version

D. show services application-identification status

Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-applicationidentification-
predefined-signatures.html

QUESTION 4

Exhibit.

Referring to the exhibit, a spoke member of an ADVPN is not functioning correctly. Which two commands will solve this
problem? (Choose two.)

A. [edit interfaces] user@srx# delete st0.0 multipoint

B. [edit security ike gateway advpn-gateway] user@srx# delete advpn partner
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C. [edit security ike gateway advpn-gateway] user@srx# set version v1-only
D. [edit security ike gateway advpn-gateway] user@srx# set advpn suggester disable
Correct Answer: BD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-auto-discovery-vpns.html

QUESTION 5

You opened a support ticket with JTAC for your Juniper ATP appliance. JTAC asks you to set up access to the device
using the reverse SSH connection.Which three setting must be configured to satisfy this request? (Choose three.)

A. Enable JTAC remote access

B. Create a temporary root account.
C. Enable a JATP support account.

D. Create a temporary admin account.
E. Enable remote support.

Correct Answer: CDE

Reference:
https://kb.juniper.net/InfoCenter/index?page=contentandid=TN326andcat=andactp=LISTandshowDraft=false
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